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>>> http request, part 2
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>>> http request, part 3
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>>> loadbalancer - nginx
http {
    # ...
    init_by_lua_file /etc/nginx/init_backends.lua;
    # …

    server {
        listen 80;
        listen 443 ssl;
        # ...
        location / {
            set $route_host $http_host;
            set $backend_ip '';
            access_by_lua_file /xxx/get_backend_ip.lua;
            proxy_pass $backend_ip;

            #...
        }
    }
}



>>> loadbalancer - lua
canonicalHost = string.lower(ngx.var.route_host)                                                                                                                          
                                                                                                                                                                         
local hash = 5381                                                                                                                                                         
local limit = (2 ^ 32)                                                                                                                                                    
for i = 1, #canonicalHost do                                                                                                                                              
   local c = canonicalHost:sub(i,i)                                                                                                                                      
   hash = ((hash * 33) % limit) + string.byte(c)                                                                                                                         
end                                                                                                                                                                       
                                                                                                                                                                         
serverNo = (hash % #web_server_ips) + 1                                                                                                                                   
                                                                                                                                                                         
ngx.var.web_server_ip = ngx.var.scheme.."://"..web_server_ips[serverNo]                                                                                                   



>>> http request, part 2
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>>> the backends, nginx
server {
    listen       80;
    listen       443 ssl;
    server_name  ~(?<domain>.+)$;

    location / {
        include uwsgi_params;
        uwsgi_pass unix:/var/sockets/$domain/socket;
    }

}



>>> the backends, uWSGI
[uwsgi]
# The socket that nginx is talking to
socket = /var/sockets/www.obeythetestinggoat.com/socket

# Run the web app
file = /path/to/obeythetestinggoat.com/source/application.py

# shutdown app (but not master) after 26hrs of no hits
idle=93600



>>> starting a web app
server {
    listen       80;
    listen       443 ssl;
    server_name  ~(?<domain>.+)$;

    location / {
        error_page 502 = @fallback;
        include uwsgi_params;
        uwsgi_pass unix:/var/sockets/$domain/socket;
    }

    location @fallback {
        if (-f /etc/uwsgi/vassals/$domain.ini) {
            rewrite ^ /xxx/502-backend.html;
        }
        proxy_pass https:
//localhost/initialize_webapp/$scheme/$domain/$uri?$query_string;
    }
}
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>>> resilience
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>>> Questions?

Giles Thomas @gpjt Glenn Jones @millenniumhand
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